A S (3R] 2 "H)
0|E: =R Mg
7.639 0.771 1.103 7.47 5.462
X 2 X 8 X 8 X 3 X 8
8.36 6.219 6.206 5.51 5.713
X 5 X 5 X 2 X 8 X 3
7.495 0.95 1.395 0.897 3.692
X 5 X 9 X 7 X 4 X 8
1.186 3.73 8.359 3.598 5.829
X 9 X 3 X 8 X 5 X 7
6.6 5.01 9.272 3.247 2.838
x 3 X 7 X 8 X 6 X 4
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MY B4 (3RI2 LTI )
Ji= - <EE
7.639 0.771 1.103 7.47 5.462
x 2 x 8 X 8 X 3 X 8
15.278 6.168 8.824 22.41 43.696
8.36 6.219 6.206 5.51 5.713
X 5 X 5 X 2 X 8 X 3
41.8 31.095 12.412 44.08 17.139
7.495 0.95 1.395 0.897 3.692
X 5 X 9 X 7 X 4 X 8
37.475 8.55 9.765 3.588 29.536
1.186 3.73 8.359 3.598 5.829
X 9 X 3 X 8 X 5 X 7
10.674 11.19 66.872 17.99 40.803
6.6 5.01 9.272 3.247 2.838
x 3 X 7 X 8 X 6 X 4
19.8 35.07 74.176 19.482 11.352
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